If we combine (3), (4), and (5), statement (1) follows and equality is attained
throughout if and only if a = b =c.

Solution 3 by Arkady Alt, San Jose, CA

Let F = [ABC] (area) and let s be its semi-perimeter.

2F 2F 2F
Since h, = —, hy = h. = — and abc = 4RF then
a c

T»
1 5/ abc 1
3 = Y2 ¥abe and
hahiphe gF3  gp vave
3abc ;| 1 3
240¢ — 3abe.
oR \ huhyhe SVabe

Thus, original inequality becomes
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Solution 4 by Nicusor Zlota,*“Traian Vuia” Technical College, Focsani,
Romania, and Corneliuv-Manescu Avram, Ploiesti, Romania

Assume that a > b > c.
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First, we will prove that
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